Roll No. : _131%1) 13073

lmf:ﬁ.. I.
!ugw Intermediate Part First ‘ﬁ' ﬁ
Paper Code PHYSICS ( Objective) GROUP -1 *
6475 Ti:u.m AL i Adarbe: 17 ' .
You have four b yo you think is earmach fill the
i or pen
SERSEESE FSD GRP-1 phy S s g
= _ng i a - < MmI'::lmn
. : i Negnhive
{ 1 | Centripetal force performs: | Pasitive work No work [ ﬁ:]m work:
l For one radian, arc 5" and mdiey 't ol | i : §=2r
. :hnhhnmemluk:lmh D L 8> } e>5 ) || s + '
r p— 1 = — e e
Solae a atsie the | , g -2
l [-m't’m‘n mﬂ:::l iIEHﬂ'ILL TN [0, I.I'H:" Llﬂ“'"l. 3 ! I 4“']5 3 | 'U'L.‘h m } 1 r,ﬁth
wmm\“ﬂ.ﬂﬁﬂnuwm it 1l~.u_p and itx - I~ o
d ;ﬁm’ﬁ“‘\fm o 2ot on sariking IoON ISN 20N I 5N
orce is: -
eE E | [
What is the distance 1 ]
| = |travelied by a body inthe  * '
5 mh‘m“‘ tin 1M m | M i 10'm Sm
'. o, . ,r
Two vectors 1 be combined have ﬂll.iu'l‘;.;'-l‘Llﬂl : y N | Can be any
3 g:k':nd 35N with different directions,  Pick BN 25N Boih A & B | value between
L I0C comTECt AnEWET: ] option A & B
' y The distance nf[m-lnt P of position vectar 3 - "_
| # =30+ 3+ 3K from the arigin ix: 30 it 63 tinit .2 anif 2.5 unit
| | What choige would you have 1o p:i.fjm the | 7 —___'r'
porfcentige uncertainty m measuring 2 3cm 4.5% and #.0% and % .

8 | with meter rod and 2 4Scm with s ernier 0,4% 0.1% U't:l,lil:d 9% snd
calliper? == 1 ' 0.52%
Huwmynnmhcrﬂmmﬂmhh. i = =1 ————

9 | 8000 kg are significant, if the lter que -+ hs | NOPCABd | Thiee ypg e anmd .'
I kg Jeast count” e I ! three Wo Two and gne. |

IHHHI.H.I " N r— ] 4

. Pick the correct condition for the relation | bs ket ‘21!; ;;:_‘umm i fL'ln[mfum 1k

10 Ce-Cy=R: For both | for In}:;:m hl"," Constant

e PrOCENies ar bath

m,m%ﬂﬁudﬂumﬂd internal i ~+—Pooesses |
el B ||., “ﬁmw ) - M . “‘I“[J

=

W or gredter than the N _l.'.;:_ S
mﬂ,f" hm will act na rl’lmmwh} Pl

‘oung’ 'wdiuble sty |
increasing
will be: {

Mﬂidlh;-" e —

Decreased

I lq !']
. . . /
ure meditm i
the pluse |
o0

o UL b [——_

e



( Subjective) GROUP -1
PHYSICS ( Su e) m *
Time: 02:40 Hours _m;#_

Z.Wﬂum“w!n GRRE o :
49 The period of simple penduliim is measured by x stop waich WheEn ol wirocy arv possibio i the

() Write the dimensions of (a) pressure (b) density. N

(i) Bimduv-{s.'hll.l}mh. Il;i:n:mwlrmm.up uncertainty

(iv) mmm_ unity? ne only one unit, - o

v Ummwmmhumﬁhw:mmnllhmww |

{¥i) m&*ﬂlﬂmﬂmumlw!ﬂmmlnmhmdhlillmmkﬂﬂmﬂhﬁw

{¥in) Mimuhmmufmlilﬂim 3

(vl Eqiﬁnﬂutirtmunhwhhhﬂnwh;it} vand scceleration & of 5 urm‘{l}m (b) ¥ is zero

L R pe—
i) Drhmmmhhwmuhw W is related 10 linear momentum?
) What is isolated watem? State the law of vonservation of momentum.

(NI Wihat s the effect on the vpeed of a fighter plane chasing another when it opens the fire?

(xi) Explamn the differvimn e between laminar Now and turbulent Now.

¥ Write short AnIWErs to any EIGHT parts, 16
) Caloulme the Work done in Lilo jowbes in hiftar

"6 & mans of 10kg (ar sseady velocity ) theouggh » vertical height of | Om.
(n) ’M‘Hmﬂrm-rm Binthe (a) compressed *pririg (b) water in high dam?

) Define excape velociny, Wiite the formula o find escape velocity

() Why does a diver change his body positions before and afer diving in the pool?

vV When mud fves off the nre of & maving bicycle, in what direction does it fly? Explain
(w3} 'Rh.nlhlS‘l’ﬁ

(ved What i the 1o distance travelled by an vbject maving with, simple
i 1o soiitude iy A?

Vi) Explaim the rolation berween total encrgy, potential ¢

4

harmonic mation in time equal o iy period,

nerpy and kinetic enetgy of a body oscillating SHM.

() Draw mmhunampl[luhmdhmindnmpodwiﬂmimt b
%} Explan the serms crem, trough, node and antinade.

sl Expin why mudhmthfminwmnirthminmldnlr. GRP_1 (th)
(x5) Speed of sound 18 2ir ot 0°C &5 332mg ' Find its speed at |$°¢ FSD

Wriluhnlllnntn 12

any SIX parts,




